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Practice Test 1

Section 1 TIME: 25 MINUTES, 20 QUESTIONS
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In this section solve each problem, using any available space on the page for
scratchwork. Then decide which is the best of the choices given and fill in the
corresponding oval on the answer sheer.

Notes:

1. The use of a calculator is permitted. All numbers used are real numbers.

2. Figures that accompany problems in this test are intended to provide
information useful in solving the problems. They are drawn as accurately
as possible EXCEPT when it is stated in a specific problem that the figure
is not drawn to scale. All figures lie in a plane unless otherwise indicated.

3. Unless otherwise indicated, the domain of any function £ is assumed to
be the set of all real numbers for which £(x) is a real number.

£
H w 30° | 45°
,e o a \/:,;( S

A=mr? A=Aw ?
C=2nr A=5bh v=~Awh V=nrh c2=a2+p? Special Right Triangles

The number of degrees of arc in a circle is 360.
The sum of the measures in degrees of the angles of a triangle is 180.

How many posiFive integers less than 36 /—/
x°/C

are equal to 4 times an odd integer ? A (
(A) Two @,

(B) Three

(C) Four

(D) Five - s

(E) Six
. If, in the figure above, ¢, || ¢, and BC
bisects £ ABD, then x =

) (A) 75
(B) 95
(O 105
(D) 115
(E) 150

GO ON TO THE NEXT PAGE
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Practice Tests 1 and 2

A long-distance telephone call costs $1.80
for the first 3 minutes and $0.40 for each
additional minute. If the charge for an
x-minute long-distance call at this rate
was $4.20, then x =

A) 7
(B) 8
©) 9
(D) 10
(E) 12

What is the LEAST number of squares
each of side length 2 inches that is needed
to cover completely, without overlap, a
larger square with side length 8 inches?

A) 4
(B) 8
< 9
(D) 16
(E) 32

D C

In figure ABCDE above, the length of
each side is 1 unit. If a point starts at
vertex A and moves along each side in a
clockwise direction, at which vertex will
the point be when it has traveled a dis-
tance of exactly 715 units?

If32=2and 26 = 15, then ab =

GV
(B) 2
©) 5
(D)7
(E) 12

(A) A
(B) B
C C
(D) D
(EYE
Number of Number of
Television Sets Families

0 32

1 80

2 160

_ 3 83

More than 3 45

The table above summarizes the results
of a survey in which families reported the
number of television sets they have in
their homes. What percent of the families
surveyed have two or fewer television sets?

(A) 75%
(B) 68%
(C) 60%
(D) 40%
(E) 33%

GO ON TO THE NEXT PAGE>
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u If 0 < x < 1, which of the following

expressions must decrease in value as x
increases?

L 1- V=

(A) T only

(B) 1I only

(C) Tand II only
(D) I and III only
(E) II and III only

Practice Test 1 439

If%= band 2 = 3, then a(b + 1) =

A) 8
1

(B) 75

\

2
© 65

(D) 4
(E) 3

After % of a ribbon is thrown away, the

remaining part Is cut into two pieces
whose lengths are in the ratio of 4 : 5.
If 9 inches of the original ribbon was
thrown away, how many inches long is
the shorter of the two remaining pieces

~ of ribbon?

(A) 21
(B) 28
(© 30
(D) 35
(E) 42

A person spent a total of $720 for dress

shirts and sport shirts, each priced at $35
and $20, respectively. If the person pur-
chased two $35 dress shirts for each $20
sport shirt, what is the total number of
shirts purchased?

(A) 16
(B) 21
(C) 24
(D) 28
(E) 32

(O

If a cube with edge length 7 has the
same volume as a cylinder with a height
of 77, then the radius of the base of the
cylinder is

(A 7

®) J7
1
N
1 .
©) -

® =

If 10 cubic centimeters of blood contains
1.2 grams of hemoglobin, how many
grams of hemoglobin are contained in
35 cubic centimeters of the same blood?

(A) 2.7
(B) 3.0
(C) 3.6
(D) 4.2
(E) 4.8

GO ON TO THE NEXT PAGE>
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Practice Tests 1 and 2

Favorite Sports Activities

The circle graph above summarizes the
results of a survey of 2500 students who
named their favorite sports activities. If
each student in the survey named exactly
one activity, what is the total number of
students who named either swimming or
biking as their favorite sports activity?

(A) 1000
(B) 875
(C) 750
(D) 600
(E) 400

In the figure above, arcs AB, BC, and

CD are semicircles with diameters AB =
BC = CD. If the diameter of the largest
circle with center O is 12, what is the area
of the shaded region?

(A) 207
(B) 247
(C) 307
(D) 367
(E) 407

If x — 3 is 1 less than y + 3, then x + 2
exceeds y by what amount?

(A) 4
(B) 5
(€ 6
(D)7
(E) 9

For all positive integers p, let p be defined
by the equation

- 2
V—P‘FZ

where £ is the largest prime number that

is a factor of p, and £ < p. IfW— X,

what is the value of v

(A) 120
(B) 133
(C) 144
(D) 148
(E) 160

GO ON TO THE NEXT PAGE>
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Exercise

Allan

~

Distance (miles)
w

N

Bill

I N .

L

10 20 30 40 50
Time (minutes)

At 9:00 a.M. Allan began jogging and Bill
began walking at constant rates around

the same circular % mile track. The

figure above compares their times in
minutes and corresponding distances

in miles. Which statement or statements
must be true?

I. Bill’s average rate of walking was
2 miles per hour. 3

II. At 9:10 A.M., Allan had jogged s

mile more than Bill had walked.
III. At 9:30 a.M., Allan had completed

8 more laps around the track

than Bill.

(A) I only

(B) I only

(C) Tand II only
(D) I and III only
(E) I, II, and III

Practice Test 1 441

A group of p people plan to contribute

equally to the purchase of a gift that costs
d dollars. If 7 of the p people decide not
to contribute, by what amount in dollars
does the contribution needed from each
of the remaining people increase?

. 2
In a certain class, exactly < of the students

3

applied for admission to a 4-year college
and, of these, % applied also to a 2-year

junior college. If more than one student
applied to both 4-year and 2-year colleges,
what is the LEAST number of students
who could be in this class?

A) 12
(B) 24
(C) 28
(D) 30
(B) 36

If you finish before time is called, you may check your work on
this section only. Do not turn to any other section in the .test.
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442 Practice Tests 1 and 2

Section 2 TIME: 25 MINUTES, 18 QUESTIONS

This section contains two types of questions. You have 25 minutes to complete
both types. You may use any available space for scratchwork.

Notes:

1.  The use of a calculator is permitted. All numbers used are real numbers.

2. Figures that accompany problems in this test are intended to provide
information useful in solving the problems. They are drawn as accurately
as possible EXCEPT when it is stated in a specific problem that the figure
is not drawn to scale. All figures lie in a plane unless otherwise indicated.

3.  Unless otherwise indicated, the domain of any function f is assumed to be

the set of all real numbers for which f(x) is a real number.
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The number of degrees of arc in a circle is 360.
The sum of the measures in degrees of the angles of a triangle is 180.

c

= £ ! A 2x B0 |4502S
S 5 w 30° 45
;C) A=nr? A=Aw e £ 2 v/3x S
3 C=2mw A=2bh v=_Awn V=nr2h c2=a’+b? Special Right Triangles
o

o

Jo}

o

[

n If x2 = 64, what is the value of x*? Set X = {21, 22, 23, 24, 25}

Set Y= {18, 20, 22, 24, 26, 28}

1

8 Sets Xand Yare shown above. If a

1 number is picked at random from set X
4

(B) what is the probability that the number
selected is also in set ¥?

©3 (A) 0.2

(D) 2 (B) 0.25

(E) 4 (C) 0.4
(D) 0.6
(E) 0.8

| GO ONTO THE NEXT PAGE
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Note: Figure is not drawn to scale.

The figure above shows the graph of |
the linear function y = f(x). If the slope
of line is —2 and f{3) = 4, what is the
value of 4? -

(A) 8
(B) 9
(C) 10
(D) 11
(E) 12

Practice Test 1 443

Function £ is a linear function such that
A2) = 3 and f3) = 2. What is a possible

equation for function f?

Il 93 53wl
II. y=x—1
OI. y= —x+ 5

*(A) Ionly
(B) II only
(C) III only
(D) I and II only
(E) none

Ifj— k= 9 and £ = 6m, and 3m = 7,
what is the value of ;?

A) 3
(B) 6
(©) 15
(D) 21
(B) 23

If 3vx —2 — 4 = 11 and y° = %%,

what is the value of y?

@ 5

B) 9 .
© 27
(D) 81
(E) 729

k

If 7¢ = 100, what is the value of 75+1?

(A) 18
(B) 51
©) 57
(D) 70
(E) 107

GO ON TO THE NEXT PAGF;>
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3 I(E) %

Practice Tests 1 and 2

y

The graph of y = f(x) is shown in the
figure above. Which graph could
represent the graph of y = |Ax)[?

A) y

(B) y
(@) y

X
(D) y

(GO ON TO THE NEXT PAGE
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Practice Test 1 445

Directions for Student-Produced Response Questions

i
Each of the remaining 10 questions (9—18) requires you to solve the problem and enter your answer o
by marking the ovals in the special grid, as shown in the examples below. ﬁ
7 Answer: 201 @
Answer: — or 7/12 Answer: 2.5 Either position is correct. =
12 o
Write answer — =~
s EALE 201 [20/! &
® o < Fraction D @ . =2l ==
ollollcllc) o O[O @D ¢ Decimal |©[O|O|O| [O|O|O[O
OO (O] OH ) oIt o - D S O@©
|| @D ool P oo e oo e
Olleleil | D ®DD DD @ DD
ggjtm—% ®|®|®|@ ollolfello) ool =lae™
% % % g % % g g) Note: You may start your answers
® D DD D || D|D in any column, space permitting.
;
=l =l Columns not needed should be left
blank.
» Mark no more than one oval in any column. * Decimal Accuracy: If you obtain a decimal

answer, enter the most accurate value the

e B th heet will b hine-
U T g et 7 grid will accommodate. For example, if you

scored, you will receive credit only if the

. btain an answer such as 0.6666 . . . , you
als are filled in correctly. 2 24
SR e coresy should record the result as .666 or .667. Less
S Although not required, it iS Suggested that accurate va_lues such as _66 or -67 are not
you write your answer in the boxes at the top acceptable.
f the col to hel fill in the oval on 2
e C(i EADS 10 SR IS Ll OTE S Acceptable ways to grid — = .6666 . . .
accurately. 3
* Some problems may have more than one
" J 12l /Z1? 6|66 6|l 6|7
correct answer. In such cases, grid only one =l = =
answer. OISO ® OO &S OO
@ @@ @ | @@ @©| @@
* No question has a negative answer. DD|D|D| (DD DD |DDD|D
3 @ &S @ OID|D|@D DD D
¢ Mixed numbers suchasZE must be %%%; ggg% ggg%
s ||| DI BO|IE |I®|IB®I®
gridded as 2.5 or 5/2. (f L is gridded, it [ @@Ole] Ceoo e cee o
S

will be interpreted as % , not 25 J)

Ifx+ 2x4+'3x+ 4x = 1, then what is the m What is the least positive integer p for
value of x?%? which 441p is the cube of an integer?

GO ON TO THE NEXT PAGE
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Practice Tests 1 and 2

During a certain month, a car sales-
person sold three economy cars for every
two luxury cars. If during that month
the total number of economy and luxury
cars sold by this salesperson was 90, how
many economy cars did she sell?

-1.8)

—x Il X

=¥

In the figure above, what is the perimeter
of the shaded rectangle?

In the figure above, the dimensions of the
rectangular box are integers greater than
1. If the area of face ABCD is 12 and the
area of face CDEFis 21, what is the vol-
ume of the box?

The coordinates of the vertices of a triangle
are (1,—2), (9,—2), and (4, 4). If the area
of the triangle is 40, what is a possible
value for 4?

A committee of 43 people is to be dividegl

into subcommittees so that each person
serves on exactly one subcommittee. Each
subcommittee must have at least three
members but not more than five mem-
bers. If M represents the maximum num-
ber of subcommittees that can be formed
and m represents the least number of
subcommittees that can be formed, what

is the value of M — w2

In the games that the Bengals played

against the Lions, the Bengals won %

of the games and lost % of the other

games. If the teams tied in two games,
how many games did the Bengals play
against the Lions?

GO ON TO THE NEXT PAGE
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Practice Test 1 447

2 00} Let f be the function defined by
% 200: flx) = 8 — [«], where the symbol [4]
s L | ' represents the greatest integer that
é 100} - R is less than or equal to x. For example,
= '_/U = - [4.2] = 4. What is the numerical value

210- 310- 410- 510- 610 710 ‘

300 400 500 600 700 800 _2
SAT scores of f [ g}'
SAT Scores of Students

at Oceanview High School

If the graph above shows the distribution
of SAT scores at Oceanview High School,
what percent of the students in this school
scored at least 610? (Omit the percent sign
in your answer.) ‘

If you finish before time is called, you may check your work on
this section only. Do not turn to any other section in the test.
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448 Practice Tests 1 and 2

Section 3 TIME: 20 MINUTES, 16 QUESTIONS

In this section solve each problem, using any available space on the page for
scratchwork. Then decide which is the best of the choices given and fill in the
corresponding oval on the answer sheet.

Notes:

1. The use of a calculator is permitted. All numbers used are real numbers.

2. Figures that accompany problems in this test are intended to provide
information useful in solving the problems. They are drawn as accurately
as possible EXCEPT when it is stated in a specific problem that the figure
is not drawn to scale. All figures lie in a plane unless otherwise indicated.

3. Unless otherwise indicated, the domain of any function £ is assumed to be
the set of all real numbers for which f(x) is a real number.

£ (A ox ol |455\/2s
- : w 30° 45°
a \/_X S

A=mr2 A=Lw £
C=2nr A=5bh v=Awh V=nr2h c2=32+p? Special Right Triangles

A o |
]
n
(s6}
(ol
oh)}
(&
lﬂ
(5]
[11)
[
(o

>

ol T

The number of degrees of arc in a circle is 360.
The sum of the measures in degrees of the angles of a triangle is 180.

(=
.2
©

=

—

o
2
=

)

Q

=

o
QP

9]
o

n A bell that rings every 7 minutes and Pens that usually sell at two for $3 are ]
another bell that rings every » minutes, on sale at three for $4. How much
where 7 and 7 are prime numbers, ring money is saved when 18 pens are pur-
at the same time. What is the LEAST chased at the sale price rather than at the
number of minutes that must elapse usual price?
bef(?re .thetho bells again ring at the @A) $2
same times? (B) $3
A) m—+n (C) %4
®) ™ ' (D) $5

n E) %6
(C) mn
(D) 60mn 4
(E)
m~+n
GO ONTO THE NEXT PAGE



武田宗竜


B

5, 10, 14, 16, 20, 23

If each of the six numbers above is
increased by x; the average of the resulting
set of six numbers is 15. The value of x is

() %
® 3
© 5
® 3
® 2

-

ly t
19 b Pabt) "
» /
U X

In the figure above, if the slope of line ¢ is
%, what are the coordinates (4, 6) of
point P?

A) (12,5)
(B) (12,8)
(©) (84)
(D) (5,20)

3
o 2]

Practice Test 1 449

BE====—=—C

-

A D

In the figure above, semicircle AD is
inscribed in rectangle ABCD. What is the
area of the shaded region in terms of w?

Sl
(A w’| 4 b
B) w2 - L
(B) w”|2 "

2y T
C) w2 )
(D) 7w? — 2
(E) 27w? — 1

Ifi = 4, A 6,and 26+ 3¢= 12,
25 2c

what is the value of 2?

(A) 8

(B) 16

(C) 20

(D) 24

(E) 30

If x is an odd integer, for how many
values of xis 3 = 2x = 56?

A) 11
(B) 12
©) 13
(D) 14
(E) 15

If 32+ b= 24 and ais a positive even
integer, which of the following statements
must be true?

I. & is divisible by 3.
II. b is an even integer.
IT1. zis less than 8.

(A) 1I only

(B) Iand IT only
(C) T and III only
(D) 1I and IIT only
(E) L, II, and III

GO ON TO THE NEXT PTG-E>
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450 Practice Tests 1 and 2

After the length and width of a rectangle

are each reduced by 40%, the length and
width of the new rectangle are each

increased by L of their new values. In

3
producing the final rectangle, by what

percent is the area of the original rectangle
reduced?

(A) 20%
(B) 24%
(C) 30%
(D) 36%
(E) 40%

Ifk2 =4 and j7° = 8, then i =

(A)

| — 00| =

(B)

(O
(D) 4
(E) 8

If 1 blip + 4 beeps = 1 glitch and 3
blips + 1 beep = 2 glitches, how many
beeps equal a glitch?

(A) 3
(B) 5
©) 8
(D) 11
(E) 13

Tom loaded % of the cartons at a

shipping dock on a truck. When Tom

went to lunch, George loaded % of the

remaining cartons on the truck. After
George finished, 40 cartons remained

to be loaded on the truck. How many
cartons were on the shipping dock before
any were loaded on the truck?

(A) 60
(B) 80
(© 120
(D) 150
(E) 180

A D

Note: Figure is not drawn to scale.

In the figure above, AB= BC = CD =
AD = BD. If the perimeter of ABCD is
8, what is the length of diagonal AC (not
shown)?

A) 2
®) 3
©) 242

D) 243
(E) 3

If27. 4 = 8*7, then

< R

@A) -

®) —

Nl— W

3
© 7
(D) 2

5
(E) 0

GO ON TO THE NEXT PA<;E>
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Note: Figure is not drawn to scale.

In the figure above, AB is tangent to
circle P at point B. Line segment PM
bisects AB, and the measure of angle
1 is equal to the measure of angle 2.
If » represents the radius length of the
circle, what is the length of AP in
terms of 7?

A) V2r
(B) vr* + 2
(© \/57-

(D) 2r
®) 5r

Practice Test 1 451

y
6—#
5] (5,5)
4
3 y=fx)
_ <
2
1
] T T T T | X
-2 —1_1 1 2 3 4 5 6
-2

Function f is defined for 0 < x < 5, as
shown in the accompanying figure. If
(1) is a point inside the shaded region
bounded by the x-axis, the line x = 5,
and y = f(x), which statement must be
true?

I. r+s5s=5

1L s=< A(»)
I 7+ s

(A) I only

(B) II only

(C) III only

(D) I and III only
(E) II and III only

this section only. Do not turn to any other section in the test.

Practice Test 1
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Anéwer Key

>~
a
f PRACTICEE TEST 1
m
E =}  ———— S - — I
= " Note: The number inside the brackets that follows each answer is the number of the lesson in
< | Chapter 3, 4,5, 6,7, 0r 8 that relates to the topic or concept that the question tests. In some cases
' two lessons are relevant, and both numbers are given.
Section 1 |
1. C [3-1] 6. A [3-3] 11. A [4-2] 16. A [6-6] |
2.D [6-1] 7.B [7-4] 12. C [5-1] 17. C [7-5]
3.C [3-9] 8. E [3-5] 13.D [5-4 18.D [8-5] |
4.D [6:5] 9.B [5-4] 14, A [7-4] 19.D [5-1] I‘
5.C [4-2] 10. B [6-7] 15.D [5-1] 20.B [3-5] |
Section 2 "
|
1.C [8-1] 6.C [8-5] 11. 54 [5-1] 15.8  [6-8]
2.C [7-3] 7.D [8-1] 12. 24 [6-5] 16.24  [3-7]
3.C [8-9] 8.B [8-3,8-4] 13.5 [7-2] 17. 33.3 [7-4] :
4. E [4-1] 9..01 [4-1] 14. 84 [6-7] 18.5/4 [8-4] '
5.B [8-2] 10. 21 [3-2]
L ] i e - mi |
Section 3 |
1. C [3-3] 5.C [3-1] 9.D [7-4, 6-5] 13. D [6-4]
2.B [3-1] 6. C [6-5, 6-6] 10. D [4-6] 14. B [8-2]
3.B [7-1] 7.D [4-2] 11. C [3-7] 15. E [6-6]
4. A [6-8] 8.B [3-3] 12. E [8-1] 16. B [8-4]
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